YR 23 E(RE) Mmafls KEFE X

OH WK B T OE (%R - K RE)

ic2
il
oy
bl
I

Rk 24 5 5 H

h5\ 53 i) X IE] ik
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AR ECIDY
,ﬁ“ % = iy = % = V=i > Y
i (= = i s g (= = i5 ES
Mk
( 1.20 + 1.00 )= 5.00
VUE 0300 = 0.44 1.00 1 &K
gk 7U—hUE |U—300 46.20 =~ 0.60 77.00 ¢ A
B [1450 3.00 1 A
iAo 2 % 350 195.00 ¢ i
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AR ECIDY
T i _ - -
{ H = 2y b 7 i & 2y i5 PSS
5
<N > D¥r i
g+ T ( 0.00 + 2720 ) X 6.00 = 3 +
D¥r i BT
( 2720 + 3300 ) X 890 = 2 +
B¥r i ClWrim
( 33.00 + 2090 ) X 1280 = 2 +
ClWrim EWr
( 2090 + 1230 ) X 590 = 2 +
EWr
( 1230 + 0.00 ) X 290 =+ 3
= 777.08 777.08 1 i
D¥r i
B+ T (Je ) ( 0.00 4+ 10.00 ) X 6.00 = 3 +
DWrif B
( 10.00 + 1240 ) X 890 + 2 +
BT ClWrim
( 1240 + 6.80 ) X 1280 = 2 +
ClWrim EWr
( 6.80 + 460 ) X 590 = 2 +
EWr
( 460 + 000 ) X 290 =+ 3
= 280.64 280.64 1 m
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55 N1 %
s I3 - — - - - = \ ”
i =1 = i s g (= = i5 ES
D
AT ( 000 4+ 0.00 ) X 600 = 3 +
DWrif B
( 000 4+ 0.00 ) X 890 = 3 +
B¥r i ClWrim
( 000 4+ 1.30 ) X 12.80 = 3 +
ClWrim EWr
( 130 4+ 360 ) X 590 = 2 +
Er i
( 360 4+ 0.00 ) X 290 = 3
= 23.48 23.48 1 m
10tH km
b iE G T B 280.64 ! m
T+ T
D IEE T 777.08 - 23.48 = 753.60
%1 1.06 + 0.8 + 0.8 + 86 -+ 55.21
+  753.60 = 819.94 819.94 1 m
ERS DA U+ e R N R
R RTE T 52.56 X 1.56 -+ 16.25 X 1.80 111.35¢ ni
ERS A %+ N R
BT L 412 X 1.80 7410 i
Pl -4 1 82.10 { ni
AEEHIEL
it x> b T 82.10! nf
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N2 E‘ =
B 3 B ﬁ B B ﬁ
NS %
,fiz“ % — Sk N < = Po=ind > N
a (= = i 2 G = i5 PSS
<SE Kt >
KM | o B

BHO.20 11
T A+ 2.80 2.05 481 m

RC-40
A T t=10cm 1.21 1.23 244 % i
HpE T 6.54 6.54 1 m

18-8-40
a7 —hL 0.57 0.57 ! m
- e
PR T Wi+ 1.75 1.27 3.021 m
LT BRI 1.05 0.78 1.83¢ i
AL +w 1.05 0.78 1.831 m

. H450 .

B E T 50kg/{#l 3.00 3.00 1 &AL
) _ Seon #k T—25
TV —F TR E T (62.9kg/FL 1.00 1.00 ¢ &
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N2 =. = Fe5s =5
B = 3 H
S =
fir [ - — - - - — \ y
2 B 2V i F i s = U *
<SE Kt >
oKW | o B

18-8-40
EfTaL 7 —R T 0.03 0.03% m

18-8-40
BHlLarr)—rL 0.06 0.06 ! mi
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% B i B @

55 N1 %
,fiz“ % — Sk S < = Po=ind > Y
o B S S ; 5 G iR
KEEIKRBENER>> AE0.20m (1.1 2 + 1862 + J (1.1°
SN T Wz + X 1.86 2)) X 1.25 = 3 2.80 1 m
RC-40
A T t=10cm 1.10 X 1.10 1.210 i
090 X 1.15 X 4 + 0.60 x 1.00 X 4
AP T 6.54 1+ ni
18—8—40B
a7 —hL 0.90 X 0.90 X 1.15 - 0.60
X 0.60 X 1.00
0.57 ! m
280 — ( 1.10 X 1.10 X 0.10 + 0.9
MO RL L X 0.9 X 1.15) 1.75% m
AL T +w 280 — 1.75 1.05¢ nt
AV +Hb I 1.05¢ m
i B Seon #k T—25
TV —F TR E T (62.9kg/FL 1.00 | #
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55 N1 %
,fiz“ % — Sk S < = Po=ind > N
at (= = i 2 5 i = i5 ES
LK BN FA50.20m (1.1562 + 0.64 2 + J (1.152
ST Az |- X 0.64 2)) X 0.83 = 3 X 3 2.051 m
RC-40
A T t=10cm 0.64 X 0.64 X 3 1.23 1 ni
2.05 — ( 0.64 X 0.64 X 0.15 + 0.54
D RL T X 0.54 X 0.68 ) X 3 1.271 m
AT T 2.0 — 1.27 0.781 m
AL +Hb I 0.78% m
. Har0 -
R T 50kg/{l# 3.00 i &AL
18-8-40
EfTm 7 —R T 0.45 X 0.45 X 0.05 X 3 0.03% ni
18-8-40
BHlLarr)—rL 0.64 X 0.64 X 0.05 X 3 0.06 1 m
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55 N1 %
,fiz“ % — Sk . < = Po=ind > N
a (=) = s s G H = i5 PSS
<VUAfig% >
figk T ¢ 300 1.20 + 1.00 2.20f m
BHO.20 11

T A+ 0.675 X 2.20 1.49% ni

B i
D REL L N ryvay 0.267 X 2.20 0.59 ¢ ni

_ e
D REL L Wi+ 0.338 X 2.20 0.74% m
AT T 1.49 — 0.74 0.75! m
A +Hb I 0.751 m
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e =. =
B = 3 H
AR ECIDY
,ﬁz: % = frxand > Y = Yo > N
H H 2y b 7 H = iE b
<UFIERSE > U-300
P IR 46.20 m 46.20 1 m
BHO0.20m ( 0.80 + 0.50 ) X 0.49
JRAEI T A+ = 2 X 46.20 14.71 0 m
RC-40(84EFD #)
MR t=10cm 0.50 X 46.20 X 0.1 2.31 1 m3
FERR 14.71 — ( 0.50 X 0.10 + 0.3 X
HHRL T i )as 0.03 + (04 + 0.3 ) X 0.36
=~ 2) X46. 2
6.16 1 m
AT +mb 14.71 — 6.16 8.551 m
A +Hb I 8.55 4% m
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Y /4 =, é;‘ Y awar
S J=:A A = =
SN
£ PR A (i At H = i -3
B ‘ PRI F 3. 44m
oy 000 < (JfeEE T) 7 vy ZREIENEIE L = 45400 m
waryl)— W 7
18-12-20BB
' EFE0.35m
B0y S P T (1.19 + 1.85 ) X 0.94 X 1 / 2 X 45.40 64.87 | m
#z235cm
ZRAavy) -+ }\7‘3
ARpEEE T 0.65 X 45.40 29511 mi
Ve LT FEREA T RC-40 t=20cm 0.65 X 45.40 29.51 4 mi
| [
7= 5
B+
( 0.65 X 0.22 + 0.20 X 0.22 + 0.45 X 0.22
oo o) — MR 2 ) X 2 4+ ( 044 4+ 0.22 ) X 45.40 30.44 ! ni
200 ( 0.65 X 0.22 + 0.20 X 0.22 + 0.45 X 0.22
o o = 71—k =~ 2 ) X 454 10.74 ¢ mi
g8 m ‘ )
HOAA T PMEEY
21 ( 0.75 + 0.35 ) X 4.76 — 2 - 0.21 X 0.42
= 2 X 4540 116.86 1 mi
650 | 540
] ERD
o) —rTayJfE L 195.00 | ni
. FA 0.15m3 + WA 0.22m3
JifIA « A= 7)) —| 195 X(0.15 + 0.22)x 1.12 80.81 ¢ m
.43 — ((1.444 + 1.190 ) X 0.64 — 2 +
PR T 1.244 X 0.3 ) X 454 9.66 | mi
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=. = St

B A 1= =

A (i 7 " = i -3
10tH km

AT +w 64.87 — 9.66 55.21 1 m

A0 i +w 55.21 1 m
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FETERR
,fiz: % = Yoxind > < = S Y <
it (=) = i 2 5 i = i5 ES
RC40 t=150
JEsEA L RS 9.200 X 8.700 = 80.04 804 mi
0 =18N/mm2 MEFHHEEY(18-8-40) Bl KIRES
HLars)—rL 9.200 X 8.700 X 0.100 = 8.004 8.0! m
0 =24N/mm2 BRAHAEEY)(24-8-40) JERRGH
a7 —h L 9.000 X 8.500 X 0.400 = 30.600
LIRS
8.500 X  0.050 ~ 2 X 9.000 = 1.913
AU
(0597 + 0550 ) = 2 X 7.900
X 0.400 X 5 = 9.061
30.600 + 1.913 + 9.061 41.574 42.0 0 m
BRI AR
PIUIRIpE T ( 9.200 + 8700 ) X 2 X 0.100
= 3.580
4041
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ok =R = feke
B = i wOFE

FETERR
,fiz“ % — Sk S 4 = Poind > N
at A = b x B (=1 Y i5 PSS
SR TR AESEY) H=30mLL
IR T
JEChED
( 9.000 + 8500 ) X 2 X 0.400
= 14.000
LIBLED
8.500 X  0.050 =~ 2 X 2.000 = 0.425
AU
(0597 + 0550 ) = 2 X 7.900
X 5.000 X 2 = 45.307
ALBUL Tl
0.597 X 0.400 X 5.00 X 2.00 = 2.388
14.000 + 0.425 + 45.307 + 2.388
= 62.120
621 mi
SD345 D13 #kfp)ARKY
S5 T 1989 X 1 = 1000 = 1.989 1.991 t
3T AKIK
a5 E T 9.000 X 8.500 = 76.500 774 m




< <BRFHYAR> > SD345

JERERR #WETE40d I THE8m

(mm)| (kg/m) | (&) (kg) (kg) (mm) { (mm) i (mm) { (mm) i (mm) { (mm) | (mm) (kPR ETE] (nm) (mm) S
i £ BB R AR —ANMvEE] He PR Ll L2 L3 L4 L5 L6 L7 L n R [Ra@Y EF)
B1 | D13 0.995 34 9.751 3321 ® 240: 8,800 240 520 11 9,800 9,800 &kl AR
B2 | D13 0.995 34 9.751 332 ® 240: 8,800 240 520 11 9,800 9,800|EEhR T #p
B3 | D13 0.995 36 9.313 335 ® 266 8,300 266 520 11 9,352 9,360kl _F#H
B4 | D13 0.995 36 9.313 335 ® 266 8,300 266 520 1l 9,352 9,360|EEhR T #5
B5 | D13 0.995 04 0.468 30| @ 100 266 100 466 470|HFENT
W1 | D13 0.995( 160 2.448 392 @ 240 837 300 837 240 2,454 2,460| FBK
W2 | D13 0.995 30 7.761 233 @ || 7,800 7,800 7,800

%EJr[kg] D25 D22 D19 D16 D13 D10

1,989
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